



Combinatorics/Number theory

Some applications of the r -Whitney numbers*Quelques applications des nombres r -Whitney*

Miloud Mihoubi, Meriem Tiachachat

Faculty of Mathematics, RECHTS's laboratory, USTHB, PB 32, El Alia, 16111 Algiers, Algeria

ARTICLE INFO

Article history:

Received 29 April 2014

Accepted after revision 5 August 2014

Available online 11 October 2014

Presented by the Editorial Board

ABSTRACT

The main object of this paper is to give an application of the r -Whitney numbers to the values at rational arguments of the high-order Bernoulli and Euler polynomials. The obtained formulas generalize the known formulas of the Bernoulli numbers of both kinds.

© 2014 Académie des sciences. Published by Elsevier Masson SAS. All rights reserved.

R É S U M É

Le but de ce papier est de présenter une application des nombres r -Whitney aux valeurs des polynômes de Bernoulli et d'Euler aux points rationnels. Les résultats obtenus généralisent les formules connues des nombres de Bernoulli des deux espèces.

© 2014 Académie des sciences. Published by Elsevier Masson SAS. All rights reserved.

1. Introduction

The r -Whitney numbers $w_{m,r}(n, k)$ and $W_{m,r}(n, k)$ of the first and the second kinds, respectively, can be defined as coefficients when we write $m^n(x)_n$ in the basis $\{(mx+r)^k; k=0, \dots, n\}$ and $(mx+r)^n$ in the basis $\{(x)_k; k=0, \dots, n\}$, i.e.

$$m^n(x)_n = \sum_{k=0}^n w_{m,r}(n, k)(mx+r)^k \quad \text{and} \quad (mx+r)^n = \sum_{k=0}^n m^k W_{m,r}(n, k)(x)_k,$$

where $(\alpha)_n = \alpha(\alpha-1)\cdots(\alpha-n+1)$ if $n \geq 1$ and $(\alpha)_0 = 1$.

As it is known, these numbers have exponential generating functions as

$$\sum_{n \geq k} w_{m,r}(n, k) \frac{t^n}{n!} = \frac{1}{k!} \left(\frac{\ln(1+mt)}{m} \right)^k (1+mt)^{-\frac{r}{m}}, \quad (1)$$

$$\sum_{n \geq k} W_{m,r}(n, k) \frac{t^n}{n!} = \frac{1}{k!} \left(\frac{\exp(mt) - 1}{m} \right)^k \exp(rt). \quad (2)$$

E-mail addresses: mmihoubi@usthb.dz (M. Mihoubi), tiachachatmeriem@yahoo.fr (M. Tiachachat).

The r -Whitney numbers $w_{m,r}(n, k)$ of the first kind give back the absolute Stirling numbers of the first kind $[\begin{smallmatrix} n \\ k \end{smallmatrix}]$, the absolute r -Stirling numbers of the first kind $[\begin{smallmatrix} n \\ k \end{smallmatrix}]_r$ and the Whitney numbers of the first kind $w_m(n, k)$, respectively,

$$w_{1,0}(n, k) = (-1)^{n-k} \left[\begin{matrix} n \\ k \end{matrix} \right], \quad w_{1,r}(n, k) = (-1)^{n-k} \left[\begin{matrix} n+r \\ k+r \end{matrix} \right]_r \quad \text{and} \quad w_{m,0}(n, k) = w_m(n, k).$$

The r -Whitney numbers $W_{m,r}(n, k)$ of the second kind give back the Stirling numbers of the second kind $\left\{ \begin{smallmatrix} n \\ k \end{smallmatrix} \right\}$, the r -Stirling numbers of the second kind $\left\{ \begin{smallmatrix} n \\ k \end{smallmatrix} \right\}_r$ and the Whitney numbers of the second kind $W_m(n, k)$, respectively,

$$W_{1,0}(n, k) = \left\{ \begin{matrix} n \\ k \end{matrix} \right\}, \quad W_{1,r}(n, k) = \left\{ \begin{matrix} n+r \\ k+r \end{matrix} \right\}_r \quad \text{and} \quad W_{m,0}(n, k) = W_m(n, k).$$

For more information about these numbers, see [1–5,9,13].

Recently, Merca [8] gave links of these numbers to the symmetric functions, and Mihoubi et al. [10] gave some applications of the r -Stirling numbers to Bernoulli polynomials.

Motivated by these works, we show in this paper some links of the Whitney numbers of both kinds to the values at rational numbers of the high-order Bernoulli and Euler polynomials. Indeed, we prove that the following identities (see [6, p. 560] and [11])

$$B_n = \sum_{j=0}^n (-1)^j \frac{j!}{j+1} \left\{ \begin{matrix} n \\ j \end{matrix} \right\} \quad \text{and} \quad b_n = \frac{1}{n!} \sum_{j=0}^n \frac{(-1)^{n-j}}{j+1} \left[\begin{matrix} n \\ j \end{matrix} \right], \quad n \geq 0. \tag{3}$$

can be generalized on the values at rational numbers of $B_n^{(k)}(x)$ and $b_n^{(k)}(x)$, where $B_n^{(\alpha)}(x)$ and $b_n^{(\alpha)}(x)$ are, respectively, the n -th high-order Bernoulli polynomials $B_n^{(\alpha)}(x)$ and $b_n^{(\alpha)}(x)$ of the first and the second kinds, $B_n := B_n^{(1)}(0)$ and $b_n := b_n^{(1)}(0)$; see for instance [7,12,14,15]. Recall that these polynomials are defined by their exponential generating functions as

$$\sum_{n \geq 0} B_n^{(\alpha)}(x) \frac{t^n}{n!} = \left(\frac{t}{\exp(t) - 1} \right)^\alpha \exp(xt), \tag{4}$$

$$\sum_{n \geq 0} b_n^{(\alpha)}(x) t^n = \left(\frac{t}{\ln(1+t)} \right)^\alpha (1+t)^x. \tag{5}$$

with $B_n^{(1)}(x) = B_n(x)$ and $b_n^{(1)}(x) = b_n(x)$, respectively, the Bernoulli polynomials of the first and second kinds. For an application to the n -th high order Euler polynomials $E_n^{(\alpha)}(x)$, we recall the exponential generating function of these polynomials:

$$\sum_{n \geq 0} E_n^{(\alpha)}(x) \frac{t^n}{n!} = \left(\frac{2}{\exp(t) + 1} \right)^\alpha \exp(xt)$$

with $E_n(x) := E_n^{(1)}(x)$ the n -th Euler polynomial.

Below, we prove the following theorem.

Theorem 1. For r, s, k, n, m be non-negative integers with $m \neq 0$, we have:

$$B_n^{(k)} \left(\frac{r-s}{m} \right) = \frac{1}{m^n} \sum_{j=0}^n \binom{j+k}{k}^{-1} w_{m,s}(j+k, k) W_{m,r}(n, j), \tag{6}$$

$$b_n^{(k)} \left(\frac{r-s}{m} \right) = \frac{1}{m^n n!} \sum_{j=0}^n \binom{j+k}{k}^{-1} W_{m,r}(j+k, k) w_{m,s}(n, j) \tag{7}$$

and

$$B_n^{(-k)} \left(\frac{r}{m} \right) = \frac{1}{m^n} \binom{n+k}{k}^{-1} W_{m,r}(n+k, k), \tag{8}$$

$$b_n^{(-k)} \left(-\frac{r}{m} \right) = \frac{1}{m^n} \frac{k!}{(n+k)!} w_{m,r}(n+k, k). \tag{9}$$

As consequences of Theorem 1, for $k = 1$, we obtain:

$$B_n\left(\frac{r-s}{m}\right) = \frac{1}{m^n} \sum_{j=0}^n \frac{1}{j+1} w_{m,s}(j+1, 1) W_{m,r}(n, j),$$

$$b_n\left(\frac{r-s}{m}\right) = \frac{1}{m^{n+1}n!} \sum_{j=0}^n \frac{1}{j+1} ((m+r)^{j+1} - r^{j+1}) w_{m,s}(n, j).$$

For $s = 0$ and $k = 1$ in [Theorem 1](#), we get:

$$B_n\left(\frac{r}{m}\right) = \sum_{j=0}^n (-1)^j \frac{j!}{j+1} \frac{W_{m,r}(n, j)}{m^{n-j}},$$

$$b_n\left(\frac{r}{m}\right) = \frac{1}{m^{n+1}n!} \sum_{j=0}^n \frac{1}{j+1} ((m+r)^{j+1} - r^{j+1}) w_m(n, j)$$

and for $r = 0$ and $k = 1$ in [Theorem 1](#) we get:

$$B_n\left(-\frac{s}{m}\right) = \sum_{j=0}^n \frac{1}{j+1} \left\{ \begin{matrix} n \\ j \end{matrix} \right\} \frac{w_{m,s}(j+1, 1)}{m^j},$$

$$b_n\left(-\frac{s}{m}\right) = \frac{1}{n!} \sum_{j=0}^n \frac{1}{j+1} \frac{w_{m,s}(n, j)}{m^{n-j}}.$$

For $m = 1$ in [Theorem 1](#) we get the following corollary.

Corollary 2. For r, s, k, n be non-negative integers, we have:

$$B_n^{(k)}(r-s) = \sum_{j=0}^n (-1)^j \binom{j+k}{k}^{-1} \left[\begin{matrix} j+k+s \\ k+s \end{matrix} \right]_s \left\{ \begin{matrix} n+r \\ j+r \end{matrix} \right\}_r, \tag{10}$$

$$b_n^{(k)}(r-s) = \frac{1}{n!} \sum_{j=0}^n (-1)^{n-j} \binom{j+k}{k}^{-1} \left\{ \begin{matrix} j+k+r \\ k+r \end{matrix} \right\}_r \left[\begin{matrix} n+s \\ j+s \end{matrix} \right]_s. \tag{11}$$

As consequences of [Corollary 2](#), for $k = 1$ and from the known identities

$$\left[\begin{matrix} n+s \\ 1+s \end{matrix} \right]_s = n! H_n^{(s)} \quad \text{and} \quad \left\{ \begin{matrix} j+r+1 \\ r+1 \end{matrix} \right\}_r = (r+1)^{j+1} - r^{j+1}$$

we get

$$B_n(r-s) = \sum_{j=0}^n (-1)^j j! H_{j+1}^{(s)} \left\{ \begin{matrix} n+r \\ j+r \end{matrix} \right\}_r,$$

$$b_n(r-s) = \frac{1}{n!} \sum_{j=0}^n \frac{(-1)^{n-j}}{j+1} ((r+1)^{j+1} - r^{j+1}) \left[\begin{matrix} n+s \\ j+s \end{matrix} \right]_s,$$

where $H_n^{(s)}$ is the n -th hyperharmonic number of order s defined by

$$H_n^{(1)} = \sum_{j=1}^n \frac{1}{j}, \quad H_n^{(s)} = \sum_{j=1}^n H_n^{(s-1)}, \quad s > 1.$$

For $s = 0$ and $k = 1$ in [Corollary 2](#), we get:

$$B_n(r) = \sum_{j=0}^n (-1)^j \frac{j!}{j+1} \left\{ \begin{matrix} n+r \\ j+r \end{matrix} \right\}_r,$$

$$b_n(r) = \frac{1}{n!} \sum_{j=0}^n \frac{(-1)^{n-j}}{j+1} ((r+1)^{j+1} - r^{j+1}) \left[\begin{matrix} n \\ j \end{matrix} \right].$$

The last expression of $b_n(r)$ shows that we have:

$$b_n(x) = \frac{1}{n!} \sum_{j=0}^n \frac{(-1)^{n-j}}{j+1} ((x+1)^{j+1} - x^{j+1}) \begin{bmatrix} n \\ j \end{bmatrix}, \quad x \in \mathbb{R}.$$

For $r = 0$ and $k = 1$ in [Corollary 2](#) we get:

$$B_n(-s) = \sum_{j=0}^n (-1)^j j! H_{j+1}^{(s)} \begin{Bmatrix} n \\ j \end{Bmatrix},$$

$$b_n(-s) = \frac{1}{n!} \sum_{j=0}^n \frac{(-1)^{n-j}}{j+1} \begin{bmatrix} n+s \\ j+s \end{bmatrix}_s.$$

Other application to Euler polynomials is given by the following theorem.

Theorem 3. For r, k, n, m be non-negative integers with $m \neq 0$, we have:

$$E_n^{(\alpha)}\left(\frac{r}{m}\right) = \frac{1}{m^n} \sum_{j=0}^n \left(-\frac{m}{2}\right)^j W_{m,r}(n, j)(\alpha)^j.$$

In particular, for $\alpha = 1$ or $m = 1$, we obtain:

$$E_n\left(\frac{r}{m}\right) = \frac{1}{m^n} \sum_{j=0}^n \left(-\frac{m}{2}\right)^j j! W_{m,r}(n, j), \quad E_n^{(\alpha)}(r) = \sum_{j=0}^n \left(-\frac{1}{2}\right)^j \begin{Bmatrix} n+r \\ j+r \end{Bmatrix}_r (\alpha)^j,$$

where $(\alpha)^n = \alpha(\alpha+1)\cdots(\alpha+n-1)$ if $n \geq 1$ and $(\alpha)^0 = 1$.

2. The proofs

Proof of Theorem 1. To prove [\(6\)](#), use the generating functions [\(1\)](#), [\(2\)](#) and [\(5\)](#) to obtain:

$$\begin{aligned} \sum_{n \geq 0} B_n^{(k)}\left(\frac{r-s}{m}\right) \frac{t^n}{n!} &= \left(\frac{t}{\exp(t)-1}\right)^k \exp\left(\left(\frac{r-s}{m}\right)t\right) \\ &= k! \frac{\exp\left(r\frac{t}{m}\right)}{\left(\frac{\exp(t)-1}{m}\right)^k} \left[\frac{(\ln(1+m(\frac{\exp(t)-1}{m})))^k}{m^k k! (1+m(\frac{\exp(t)-1}{m}))^{\frac{s}{m}}} \right] \\ &= m^k k! \exp\left(r\frac{t}{m}\right) \sum_{j \geq k} w_{m,s}(j, k) \frac{1}{j!} \left(\frac{\exp(t)-1}{m}\right)^{j-k} \\ &= \sum_{j \geq 0} \binom{j+k}{k}^{-1} w_{m,s}(j+k, k) \frac{1}{j!} \left(\frac{\exp(m\frac{t}{m})-1}{m}\right)^j \exp\left(r\frac{t}{m}\right) \\ &= \sum_{j \geq 0} \binom{j+k}{k}^{-1} w_{m,s}(j+k, k) \sum_{n \geq j} W_{m,r}(n, j) \frac{(\frac{t}{m})^n}{n!} \\ &= \sum_{n \geq 0} \frac{t^n}{n!} \frac{1}{m^n} \sum_{j=0}^n \binom{j+k}{k}^{-1} w_{m,s}(j+k, k) W_{m,r}(n, j). \end{aligned}$$

So, the desired identity follows by identification.

To prove [\(7\)](#), let us use the generating functions [\(1\)](#), [\(2\)](#) and [\(4\)](#) to obtain:

$$\begin{aligned} \sum_{n \geq 0} b_n^{(k)}\left(\frac{r-s}{m}\right) t^n &= \left(\frac{t}{\ln(1+t)}\right)^k (1+t)^{\frac{r-s}{m}} \\ &= k! \frac{(1+t)^{-\frac{s}{m}}}{\left(\frac{\ln(1+t)}{m}\right)^k} \left[\frac{1}{k!} \left(\frac{\exp(m\frac{\ln(1+t)}{m})-1}{m}\right)^k \exp\left(r\frac{\ln(1+t)}{m}\right) \right] \\ &= k! (1+t)^{-\frac{s}{m}} \sum_{j \geq k} W_{m,r}(j, k) \frac{1}{j!} \left(\frac{\ln(1+t)}{m}\right)^{j-k} \end{aligned}$$

$$\begin{aligned}
 &= \sum_{j \geq 0} \binom{j+k}{k}^{-1} W_{m,r}(j+k, k) \left(\frac{1}{j!} \left(\frac{\ln(1+m\frac{t}{m})}{m} \right)^j \left(1+m\frac{t}{m} \right)^{-\frac{s}{m}} \right) \\
 &= \sum_{j \geq 0} \binom{j+k}{k}^{-1} W_{m,r}(j+k, k) \sum_{n \geq j} w_{m,s}(n, j) \frac{(\frac{t}{m})^n}{n!} \\
 &= \sum_{n \geq 0} \frac{t^n}{n!} \frac{1}{m^n} \sum_{j=0}^n \binom{j+k}{k}^{-1} W_{m,r}(j+k, k) w_{m,s}(n, j).
 \end{aligned}$$

To prove (8), let us use the generating functions (2) and (5) to obtain:

$$\sum_{n \geq 0} B_n^{(-k)} \left(\frac{r}{m} \right) \frac{(mt)^n}{n!} = t^{-k} \left(\frac{\exp(mt) - 1}{m} \right)^k \exp(rt) = \sum_{n \geq 0} \binom{n+k}{k}^{-1} W_{m,r}(n+k, k) \frac{t^n}{n!}.$$

To prove (9), use the generating functions (1) and (4) to obtain:

$$\sum_{n \geq 0} b_n^{(k)} \left(-\frac{r}{m} \right) (mt)^n = t^{-k} \left(\frac{\ln(1+mt)}{m} \right)^k (1+mt)^{-\frac{r}{m}} = \sum_{n \geq 0} \binom{n+k}{k}^{-1} w_{m,r}(n+k, k) \frac{t^n}{n!}. \quad \square$$

Proof of Theorem 3. The generating function of Euler polynomials gives:

$$\begin{aligned}
 \sum_{n \geq 0} E_n^{(\alpha)} \left(\frac{r}{m} \right) \frac{(mt)^n}{n!} &= \left(\frac{2}{\exp(mt) + 1} \right)^\alpha \exp(rt) \\
 &= \exp(rt) \left(\frac{\exp(mt) - 1}{2} + 1 \right)^{-\alpha} \\
 &= \sum_{j \geq 0} \frac{(-\alpha)_j}{j!} \left(\frac{m}{2} \right)^j \left(\frac{\exp(mt) - 1}{m} \right)^j \exp(rt)
 \end{aligned}$$

and upon using the relation $(-\alpha)_j = (-1)^j (\alpha)_j$, we get:

$$\sum_{n \geq 0} E_n^{(\alpha)} \left(\frac{r}{m} \right) \frac{(mt)^n}{n!} = \sum_{j \geq 0} \left(-\frac{m}{2} \right)^j (\alpha)_j \sum_{n \geq j} W_{m,r}(n, j) \frac{t^n}{n!} = \sum_{n \geq 0} \frac{t^n}{n!} \sum_{j=0}^n \left(-\frac{m}{2} \right)^j W_{m,r}(n, j) (\alpha)_j$$

which gives, by identification, the desired identity.

References

[1] H. Belbachir, I.E. Bousbaa, Translated Whitney and r -Whitney numbers: a combinatorial approach, *J. Integer Seq.* 16 (8) (2013), article 13.8.6.
 [2] M. Benoumhani, On Whitney numbers of Dowling lattices, *Discrete Math.* 159 (1996) 13–33.
 [3] A.Z. Broder, The r -Stirling numbers, *Discrete Math.* 49 (1984) 241–259.
 [4] G.-S. Cheon, J.-H. Jung, The r -Whitney numbers of Dowling lattices, *Discrete Math.* 312 (15) (2012) 2337–2348.
 [5] T.A. Dowling, A class of gemometric lattices bases on finite groups, *J. Comb. Theory, Ser. B* 14 (1973) 61–86.
 [6] R.L. Graham, D.E. Knuth, O. Patashnik, *Concrete Mathematics—A Foundation for Computer Science*, 2nd ed., Addison-Wesley Publishing Company, Reading, MA, 1994, p. 1.
 [7] Y.L. Luke, *The Special Functions and Their Approximations*, vol. I, Academic Press, New York, London, 1969.
 [8] M. Merca, A note on the r -Whitney numbers of Dowling lattices, *C. R. Acad. Sci. Paris, Ser. I* 351 (2013) 649–655.
 [9] I. Mezö, A new formula for the Bernoulli polynomials, *Results Math.* 58 (2010) 329–335.
 [10] M. Mihoubi, M. Tiachachat, The values of the high order Bernoulli polynomials at integers and the r -Stirling numbers, arXiv:1401.5958v1 [math.NT], 23 Jan. 2014.
 [11] G. Nemes, An asymptotic expansion for the Bernoulli numbers of the second kind, *J. Integer Seq.* 14 (2011), article 11.4.8.
 [12] T.R. Prabhakar, S. Gupta, Bernoulli polynomials of the second kind and general order, *Indian J. Pure Appl. Math.* 11 (1980) 1361–1368.
 [13] M. Rahmani, Some results on Whitney numbers of Dowling lattices, *Arab J. Math. Sci.* 20 (1) (2014) 11–27.
 [14] S. Roman, *The Umbral Calculus*, Academic Press, 1984.
 [15] H.M. Srivastava, An explicit formula for the generalized Bernoulli polynomials, *J. Math. Anal. Appl.* 130 (1988) 509–513.